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o. pp U0 p; 0000O000ODOO0000 p;dD0000000000000000
gboobboobooboobooobobo3syboobooobogp 0bOon
gbobobobobobuobob p0o0oooooooooooooon
Up,000bb0o0bogbbooobboobobogbobogoooon
gbgobgobobboboobooboobon
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*ﬁ VIO HR *zﬁ VoOHR

BAKRT AT S Detour
Joex =J Discov l
yiscov
Detour

&) L"’“"“ m@ (r) (v

BRKTJI<MTS
pa= >3

Discov

0 34: 0000000 Detourtd 00O 0 35: 0000000 DiscovO OO

*ﬁ VOHR

VOO HR

BT JI<MTS
Fo+&x

BRKTJI<MTS
A=l >3

0 36: 0000000 DecideO OO 0370000000

goobobbobboouooogobobobbbooooooobbobboogd
goboog

goobobobobooooogoobobobbooooooobbobobboogd
gobood

00 9.00000000D00DOD ;000000000 0DODOOO0DDOOODOO
O00000000000000 p(e P(7;))0000000000000O00O0
p € P(7;)00000p;, 0000000000000 0O P, 000000000
'PD=<'Pj,pk> Il

3.22 0O0O0O0O0O0O0OO0OOOOOOOOO
gobbobuoodgibbpbogobobbooogbobooooboooo
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L DDDDP2:<p17p27>
oo boooobooooooooooooooon
ooo

O000000OOread() 000000000000 OOOOOODOOO

goboooboobuoooboooboboboobobooobboonboon
gooooboodan

000 SZ; = Detour|Discov|Decide| L, SP; = P

1 = (Detour,P) 00000000000 POOOOOODOOOODOO

S
0000000000

. & = (Discov,P)D 0000000000

. S = (Decide, ) 00000000000

. & =(L,1)00000000000000008=10000000
0

e J000O000ROODODOOOODDOOOOOO

0000000000
R=(ID,P,S)

0Oo0O0/pO0000O0O000C0Op, - +,p,00000000000000
000000000000 L000000POO0O0OOOO0OOOO00OSO
000SO000000000000000000 ID,P,S000000
RID,RP,RSOOD0O0ODOOOO

e JUUIDDOOODLUODL:DDODDLOOODLOODLODLOODLDOODLOOO
ggbbbuooboobbbuooobbgobbbooogbbobod

e B,P,,SOP,000000p,000000 (P, —p000000000000
P,00000000000000000000 RRRID=P)00 RPO
0000008, 00000000000000000000 R(R.ID=P,)
00 RSOO0ODO00O00ODOOO00O0DOOOOOO0O0O0O000 L0
0ooooo

e PO0p, 000000000 DODDODOOUOODDODDOOOOOPR, = {p, €
N,p;i—p,}00000000000000 LOOODOOOO
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e Parent(P,,R,): 00000000R,0000000000000000O
000 P, = (p1,p2, Pt pm) 0000 p,,s 00000 IDODOOODO
00000 ROODOORID=p,,00000000000000000 L
D000000P,000mO0m<10000 L0000

e Consistent(?;): 0000 P, 000000000000000000O000
OD0O0P000mO0000P; = (p,pss-,pm)0000,0000 p; O
0000000000 AN,00000000000000000000000
000000000

L. pr=pr Apm =Dpi
2' pmfl 6-/\/;'
3. ,00000000200000000

e Random2(R; 0000000 OR, 0000000000 ROODDOOR.S =
lbobbobobbboouoooooobobbbbbbobobouoooooooon
gbobogbobogbobogbobooobooboobboobboonn
gbooob Looobo

e Last(P,)000 kOOOO0O Py = (p1,po,--,p) 000000000 p, O
00000000 P, =100 L0000

e Prefix(P,,P,)0P, = (P,,P)(POOOOOOOD)00000OOOODOO
000000000000

e SearchSubLink(P,, R,J0000000000 R;00000000 Prefix(P,, R.P)
0000000000000 ROOOOOOOOOOOOONOOOOOOO
0000000 10000

e NextPathNode(P,, Py, RiIP, = (Ps, Dy1, Py2, - - -, Pym) O O OO Prefix(P,, P,)
DDDDDDpyleMDDDDDDDDDDDDDDDD R, 000000
godgno R(R.ID:pyl)DDDDDDDDDDDDDD 1gogog.

e SElect(P,R)D00000000OO0OOOOOD POOOOOOOOOOO
R,U00RIDePOO0OOOOOODOO ROUDODODODODODODO
goboobgoobobbobooboobooboobo0 rROODOOD

000000 ROOD RSODOOODO RSTIOODODOOODOOODOO
goboooogobon

1 < Detour < Discov < Decide

00000000000 RO (RSZOOODOOORSPOOOOODODOOO
O000C0CO0O RIDOD)0D0O0OO0OO0O0OOOOODOODODODOODOOOOO
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gbogobgoboobboboobooboobo

Ml() = (Pp = J.) A (Last(ﬂ) = pl)
A(SZ; = Detour|Dicide)

My() = (B, # 1) A (Last(Py) = pi)
(S8Z, = Detour|Dicide))

Ms() = (VRE R, RP # 1)

G1() = M3() A (R,.ST = L) A (SZ; = Detour)

Go() = M3() A (R,.S = Discov) A (SZ; = Detour)
G3() = M3() A (R,.S = Discov| L) A (SZ; = Decide)
G4() =(R,.ST = L) A (SZ, = Detour)

G5() =(R..ST = Discov) A (SZ,, = Detour)

Ge() = M3() A (R,.SZ = Discov|L) A (SZ, = Decide)

gboobgobobbobooboobooboon

000000000 WRITE(M)
00 M={(P,8),(P,S), -, (P.,S8)}000000000000000
0000000000000

write( Py, (pi, Pi, S1));write( Py, (pi, Pi, Sa));- -+
-+ write( Py, (pi, Pi, Sk));

Error()
0000000P, =18 =1, M:={\,(p,P,S)} 0000000



Root Process(p,):)V— b p, OF{F
do
Pr = {pr); Sr i= L
M = {(Ns, )k
write(\V,., (pr, Pr, L));
od
Non-Root Process(p; # p,):/)V— b p, IS OEIE
do
if ¢; then{
if SZ; = 1 then &; := (Detour, P;);
t; == false;
}
Ri:=read();
if Mi() then SuperRootMode
clse if My() then SuperNodeMode
else NormalMode
WRITE(M);
do

Procedure NormalMode
Rimy = Parent(P;, R;);
if Rimp = L then {R¢m, := Random2(R,)};
Pi = (Rimp-P, ps);
if =Consitent(P;) then {P; := 1;}
S =1
M={N;, 1}
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Procedure SuperRootMode
R, := SElect(P.,R;);
if G1() then {(G1)
R,:=ScarchSubLink(P;, R;);
if R, # L then {
Pi = (Ry.P,pi); Si = Ly M == {(MV;, L) };(A1-1)
}else M i= {(P., ), ((N; — P), )}(A1-2)
}Yelse if Ga() then {(G2)
S; := (Decide, R,.SP);
R, :=NextPathNode(P;, SP;, R:);
M = {(R,.ID,S;),((N; — Ry.ID), 1)};(A2)
} else if G5() then {(G3)
R, :=NextPathNode(P;, SP;, R;);
if R,.ID = 1|P, then Error();(A3-1)
else if (R,.ID ¢ P.) then {
Pi = (Ry.P,pi); Si = Ly M == {(V;, 1)};(A3-2)
Yelse M := {(R,.ID,S:), ((N; — Ry-ID), 1)};(A3-3)
} else Error();(A0)

Procedure SuperNodeMode
S; == L;R, = SElect(P.,R;);
if G4() then {(G4)
R,:=SearchSubLink(SP,, R;);
if R, # L then {
M = {(B, (Discov, (Pi, By-ID))), (N — P,), 1)}s(Ad-1)
Yelse M := {(P.,S,), (Vi — P.), 1)};(A4-2)
}else if G5() then {(G5)
M = {(Pyy Ra-S), (PorS;)), (N = Py = P,), 1) }5(AB)
Yelse if Gg() then {(G6)
R, :=NextPathNode(P;, SPp, R;);
if (Ry.ID = L|P,)|(Ry.ST =Decide) then Error();(A6-1)
clse if R, ¢ P, then {
Pi = (Ry.P,p;); M := (N, 1);(A6-2)
Yelse M = {(R,.ID,S,), ((N; — R,.ID), 1) };(A6-3)
}else Error();(A0)

38 0buggobobougonoboboooonooboood

3.23 UULOOLOO0OOOLLObLbOOOooooLobobod

gbobobobobobobobooooobobobobossbobbbog
goobboboboboouooooobbbobbouooooobbobboogo

OR,2Oooooooooooooooooboooobooooooooooooon
gboolLbooboooboooboobooon
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3.3 UOOOoogoogn

gogobobobobbdodooogobboobboduoooooboboogd
ggooobod

00 10(00000). 00000000 p;, 000000 P, 000000 S;,=1
oooooooboboboboo S=1L0000n [

O0000O0obO0bOOobO0o0o0OOobOOobODobOobOooo ADbOoboo

00 11 (0000000000000 A).DO0DOO0O000O0DOOOOOOOOO
OO0 ADOOO [l

0000000000 AODOOOOOOOOO0O0O0O00.000000000
0000000000000000000000 To(R(T) = p,), Ti(R(TL) = p:)
0000

00000e000000000000000000000000000000
OPassage 000000000000000

00 12 (Passage00). 00000000000 OOOOOOOOp,(@O0O 710
00000)0000000000000000 p, 0007000000000
ggbbobuoouooobbbuoooobbbuooobobbod [l

00000000000000000000000000
00 13 (000000). 000 70000000 000000000
1.87,=100P,# 1000000 7000000000
2. 8T, =Detowr 00 P, # L 000000 7000000000
3. 8T, = Decide 00 P, # L 000000 7000000000
4. 00000000000000000
O

gogobbobobbodoooooobbobbboduooooobbbboogo
goooo

g

gbbogobodgbogbboboboobuoobbobboooboobbo
gogobod

gogbbobuoooobbboogoboboooobboboooon
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00 11.000000000000000000000 p;0 Last(P;) = p; O
P,= 10000

gd.obobtpbbdoodbobbboogn

1. 0000 p; 0 Last(P) #pi APi# 1L 000000000

00000000 p000000000000000Last(P;) #p, 0000
0 My(),Mx()0 00000000 NormalMode DO 0000

000 NormalModeOOOOOOODOOODODOO p, 0000 Parentd OO
O00 Random2OO0O0O0O0OO00O0OOOOO0DOO0ODOO Random20 L 0O
00000oOooooo

e 0OUUp UL DLOOOODDLOUOOODDOD

0000 p00000000000000 (000000000 P
0000000 p, 000000000 (P;,p)00000 p; 0000
00000000000000000000000000000000
0 Last(P;) = p,0 00000000 P, =10000

e J0OUUOpOOOODLDDLODODOOOODLDLDOOOOODLODLO0O00

000000000 NormalModeO OO RtmpO 00000 p;, 0000
OO00o00ooooooboonoouid Ry, ID=1000000
O0R,P=1L000000000000p 0000000000
(Rimp-P.pi) = (ppy)0000Op #p,000000000000000
OobOobO P =L0000

gobodobboobobooobbooboooboobobooboboono
000 Last(P;) =p;00P;,=1000000000000000CO0OOO

2. 0000 p0P=1L000000000

00000000p000000000000000P; =_10000Last(P;) #
p, 00000 M(),M,) 000000000 NormalMode 0 000000
000000 NormalMode 0 0000000000000 Last(P;) = p; O
P,=10000

3. 0000 p; O Last(P) =p, 000000000

00000000 p00000000000000A0 Last(P;) =p; 000
00 M(),M,()OOOOOOOOO SuperRootModel SuperNodeMode O
NormalMode U0 OOO0O0O00OO0DO0O

e 000 NormalModeO OO OO OOODOOOO Last(P;) =p; 0 P; = L
HREREEN
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e (100 SuperRootMode OO OO DO OO

(a) 000000 A1-10 A3-2000000 Last(P;) = p;
(b DDDOCODODOD A3-10AOODCODODOOOP, =1
(¢ DODODDOOODOOOOODOOODOOOOO Last(P;) = ps

e 100 SuperRootMode OO O OO OO

() 000000 A6-2000000 Last(P;) = p;
(b)) 0DODOOOA6-10 A0DDDOOOP =1
() 000O0D0D0000000000O0O0000 Last(P;) =pi

goboooboboboogon [l

U0 12. 00 Parent 0000000000 RO LOO0OOOOOOUO NormalMode
ooo0oo0S# 1l0000000000obo0obooboDooDobOoboboboboo
gogboobogogn

O0d. 0000 p, 0000 NormalMode OO O UOOUOODO NormalMode 0 00 O
0000 Parent 0000000000 RO LOOOOO0OO00O Ryy,=1000
00000 Random2O0 0000000000 D0OO0O0ODODOS# 1000000
gooobooboboboboboobouooboobooobooo

00000 1100000000 p;0 Last(P;)=p; 0 P,=1L00000000
looooooooooop0bbodooooooooboodgooogon

00000 Random20 000000000 RO RPORP=1000000
000000 p 0000000000 (RP,p;)=(p;)0000p; #p, 00000
goobooooboboooobobo pP=1l00000000000bbb00o0on

gboooboooboobo O

00 13.00000000000000O000 RSZ=DetowrDO0O0O0OOODOO
OROODDOOOODODOOODOOOOODDOOO A41,A42A5000000
ggooobod

O0. 00000000 p 0000000 p, 00000000000 RST =
Detowr DO ODOO0ODODOO RODODOOODOO

00000000 M()0 P,=1000000000000 SuperRootMode
00000000p; « p;00 ST, = Detowr 00000 M,()ODOODOOODO
000 SuperNodeMode 0 00O O0OODODOOODOO SuperNodeMode 0 OO0 O
ST, =Detowr 000G,()0 Gs()00000000000000A41,A4200
00 AS0000000000000000Gs()00000000SZ, = Detour
gooooboodaod

00000000000000000000000000 -G4()A-G5()A(ST, =
Detour) 0 000 00O (R,.SZ = Detour|Decide) A (SZ, = Detour)D D 00000
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O000p, 0000000000000 DO0O R.ST = Detour|Decide0 00000
OoooORrROOOOOOODOODOOOOOOOOOO0,O000000000000
00000 RSZT=Decide010000000O00 ROODOOOOODODOOODODOO
O0000p,0p, 00000000000 0p, 0000000000P, = (Pi,px)
O0booooooooOOobob0o0o0ooooDO0O0DbO NormalModeO OO O
000 Al-10A320 A6200000000D00O00COO0O0OOOOODOOOOO
Ooo0oo0SZT=100000000000000D0O0p, 000000 p;,000OO0
ST = Detour|Decide 00000 O0O0O0O0O00O0OOOO

O0o0oooooboo0o AoODO0OoooDObOOo0oOooobDooooDoDboD O

00 14. 00000 p, 0000 S, =1 000000000000000000
D0000000000000000 YRyy(Ypa,py € P,(pe,p,) € L)0DDOODO0
R,,S=10000

O0.0000007, 00000

000 7,000000 pi=R(T)(000pi£p)00S =100 p0000
7,00000000000000000000000 M;()0 SZ; = Detour|Decide
000000000000 SuperRootMode 0000000000000 My()O
P,#1000000000000 SuperNodeModeOOOOOOOOOOOOO
O0p, 0000 NormalModeOODOOODODOOOOORS=1L00000000
00 RODDOODOOOOODDOOOOOOOOOOOODOOp; =p(=R(7))0
O000000bOooon, 000b0O00RS=10000000000 RO
goooobobobbboobooooooagd

00000bDoooop 000000000 0b0o0oooDoooog0 RS=10
000000000 RODODDOODOOOOO M()O 8Z; = Detour|Decide 0 0 0 O
00000000 SuperRootModeD 0000000 M,y() O SZ, = Detour|Decide
000000000000 SuperNodeModeOOOODODOOODOUOODOOO Nor-
malMode OO DO OOODOOODODOOODOOODOOO NormalModeO OO OO
RS=1000000000000000DO0DO0O0ODOODOODOODOOO

0000000 0000n00o0oD 7,00000000000000 NormalMode
guoooobbbbbibooooooooooon [

00 15. 00000 p,00008; = 1L000000 YRy, (Vpe,py € P, (paspy) € L)
D000 R, S=1000000000000000000000000000
00000000O000000

00. 0000000008 =1.0000000 VYRuy(Vpe,py € P, (pepy) €
L)OOOO0OR,,S=1000000000 M()O SZ; = Detour|Decide 0 O O
000000000 SuperRootMode 0000000000000 My()O ST, =
Detour|Decide 000000000000 SuperNodeModeO OO OO OODOOOO
00000 p; 0 My(),My()OOOOOOO0OO NormalMode 000000000
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0odboboob0db0odob0oboobOobOobOobOobOobOoDbOyOoOooooo
00000000000 §;:=Detour,P,) 000000000 OO0OOODOOO
000 p, 000000 NormalModeO OO OO OOO
000000000 VR, (Yps,py € P, (ps,py) € L)0DO0O0O R, S=1000
000000 Random2000000 Randoml OO ODOODODOOODDOOOOOOO
000 NormalMode O O200 0000000000000 0OO0OOODOOOO
000000000 220000 1 0000000000000 00D0D000O00
0000 7, 0000000000000000
0000D0bOO0DO0doe00D0ODODOODOODOODOOODODODODOD O

00141500000 §;,# 0000000 p,0000000000O00DCOO
gogbboboooobbboooobbboooobobobooo

00 16. 000 7, 00000000DOO0ODOOD ;O0000O0O0ODOOO
goooo

O0. 00000000 7;00000

1. 0007, 000000000000DO00 7;000007;O0000D00
ggbbobooobboboooobobod

00000000 ;0000000 p; 0000

gobbobooogb2000bbbuooobbobuoooobbuooobon
O0b20000000000000000DO0300D0DO007,00D000
ggbbobuoooobbboooobobbboodgobon

o0o00ooOOoDbO 7, 000000000DO0DO0OOO0O0ODOOO0 ;00000
Uidblp,00b0dbodbodoooodgododooooodn11good
0000000000D00D00 Last(P;) =p; 000000000 ;000
gbodboooodoodgodao py,0uo0bdbogdgboaoodgoaogn
00000 7;00000000000000000000 p;000000
OO0bOo0obOOo0o0O0DOo0O00 7zoobobooooboobogooo
goooog

oooooo 7,7, 0000000000000 7, 0000 7,00000
o000O0obOO0obOobOobOO0obO 7Z,oobooooooboobobobooboo
gobooodg

2. 0007 000000000000 O0DO0O7;00D00DOODODbOOOOO
go0oOOo0oDOoO0oOboO00oOo0oO0oDOoooboDooDOoonD ,0000000
00000000 7, 00000000DbO0bOO0O0obO0O0ob0OooDOoon

000 7,00000000000000 p;0 SZ; = Detour 00 Last(P;) =
p;, 000000000 SuperRootMode 00000000 M()00DB0ODO
uo
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(a) G,()00O0000OO

1.

11.

gboobouooooboo
Oo00000 A1-1000¢6;,:=100000000000000
gobooo

gbboboogobobod
000000 Al2000000000000O0OCO00DOOOO
OO0 RSIT=Detowr UO0DOO0OO00OOOO ROODDOOO

(b) G,()00D00 G,()ODOD0OO

000000 A200000000S; := (Decide,Pp)0 000000
gooo

(c) 0000000

ST, = Detour D 00 G5() 0 SZ; = Decide 000000000 DO Gs)
000000000000000000000000000M,s()00
0000000000000000 LO00000000000000
0000000000000 R.ST = Detour|Decide 0 0000000
00 ROOODDO000000000000000000A0D0OOO
00000000000

O000O0O0000000O0O0000000O p, 000000 A1-2000
O0000000000000000000000 p;0000000 A1-2
gobooobooooobbooooooboooboOod RST = Detour
gboobooobo ROOODOOO

0000000 700000000, 0000000000000000
00 RSZ=Detowr 0000000000 ROODODOODODODO M,()O
P,=1000000000000 SuperRootMode 0000000000
M,()ODDDDODODODODODODO SuperNodeMode 0 00000

(a) G,()000O00D0O

1.

11.

gooboogogooo
O000p,00000DCODO A4 10000DOCDOOOOOODODO
OO00000000 RSZ=DiscovODODOODOODOODOO RODO
gooo

gboboboodgobood

O000p,00000DOODO A42000000000000OO
000000000 RSIT=DetowrJOOOODOOOODO RODO
goo

(b) G,()0000 Gs()DDOO0ODO
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D000 p, 00000000 AODOODOODOODOODODOODO
0000000 R,SZ=DiscovOOOOOOO0O0O0 R, 000000
O0000D000000D0000 R.ST=Detour0000OO0O0DOOO
O RrRUOO0OODOO

(c) D0DOODOOO

OO0 130000000000 0000D0000O0 R.SZ = Detour0 O
Dooboobo RrROODDODOODOODOODOD ppOOODOO
0 A4-1,A4-2A50000000000000

0000o0000goooo 7, 00000ooooooboooo 7zooooo
700000000000 000O0DOO0O0O0ODOOOoO0OoLODOobODOO
p; 000000 Al2000000000000000O0COO0O0O0O00O0OO
Ooooo07;0000000bo00ooo0 A4-100o0o0oooboooo
O00000RSI =Discov0 000000000 ROOOODOO p;00
Oo00000000000000000000 p; 0 R.SZ = DiscovO OO
0000000 ROOOOOCOOOOOOOOD, 0000000 A2000
ooooooooboooooboobobo zOoboo0oOooooboobooooo
goOoOoOo0ooOoUooOoobodoboooboUoooUoo wyooooooboo
ooooooo0 zzoooobooooooboooooboooboooooo

ggboboobobbbooodaon U

OO0 17.00000000000D0O0000O00OS8Z; =Decide0 0 ODOOODO py
oooooD §,=1L00000000000000

00.0000 py,piss,-pis—n,pin D p;00000000000000000
0000 p; — pip1 — -+ —pi-1 — pu000000000000000000
0000000000008, = (Decide,Pp,)00000000000P,0000
000000000000
00000000000000000000000000000000000
0000000000000000000000

000 7,0000000000000 000 M()00000000000
000000 SZ; =Decide 00000 G1(),Go() 000000

e G;()000000000Erer00000000000000 00000
00008, =100

e G;()JODDODODODO NextPathNodeD LODOOOODOOOO Errord A3-10
Oooooooboooooop0obbooooogs,; : =100

e G;()0IDDODODODO NextPathNode 0000 O0O0OOO0OOOOOOOOOO
A32000000000000D0Op,ODO0O0O0O000DCOS, =100
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e G3()000D0O0O NextPathNode 000000000000 DOOOOOO
A33000000000000p 0000000000

00000000000000000000000000 p;08; =Decide0d 00
0000000000000 p, 0000000 A3-3000000000000
0000 p;00p —p000000p,0A3-300000000000000
P 0000000 RST =Decide 0000000000 ROOOOOO
0000p 000000 p,000000000000R.ST = Decided 00
0000000 ROODODOOO000000O0 M,()O00O0OD0D00000 py,00
000000000000 8Z,=Decide00000 G4(),G5()000000

° Gﬁ()DDDDDDDDD ErrorDDDDDDDDDDDDDDDDD(PiH::
1L 0o pi?Lle)D

e G¢() 00000 NextPathNode(Pp)=L|P, 0000000 Error(A6-1)0 0
000000000000000 (p; ¢ piss)0

e G¢() 00000 NextPathNode(Pp)¢ P.OO0O0A6-2000000000
00000000 (p; 4 pips)O

e G() 00000 NextPathNode(Pp)e P.ODOOOA6-30 00000000
gobooooon

0oono
0D00000000000000 p;0 A33000000000000000
0p0p—pnm0000000000000000 piy,0A6-3000000
000

000 piys < piy2000000p;, 0 A6-30000000000000 Ryayire
0000 RS =Decide0 0000000

0000p;, 000000 p;; 0000000 Ryt 0000 Decide O O
0000000 (00 M,()00)000p;.0 py 000 A6-3000000000
0000000000000000 p.,00000

e 00000000000 P,,0000000000000 P,000O
D00000000000000000 NextPathNodeO OO 100000
0oono

e OO 0O0O0OULDDLDLODOUOOOLOODDLDODOOOOOUODLDLDDODO
nU000000000000000 20000000000000000
O00o000doooooooooooooDoooD (n—1)ODDOOOOOOO
NextPathNode(Pp)¢ P.O OO0 O0OO0O0O0OOOO
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gboooboobooboobgooboobobbopypebonboo
O0000000d pix0A-300000000C0O0O0O0O pwx0D00ODOO
gboobuoobodib pe 0000000000 DOO0O0DOO0DOO0DOO0
00000 pe1 0 A30000000DDO0O0O0DO0 120000000 piyr— O
A-300000000000p4+, 0000000 py00O00OOOOODOO
O0000D000piwx10p OOOOODOOODOOOOAG-3000D0OOO
gobboboooobbbood peedbbbooonobbooon
OO00O000O00OoO0ooO0ooodD ps0 A330000000D0O0b0ODO
ERERN
Oo0O00ooDooodp0A3300D000000O0DOCO0O0O0ODODOODODOO
gobboboooobboboooobobog [

ggbbobbobuoogoobo

b 18 0ooogoboboooobuogoobbooobbboooobboo
oooooooobopobogonD §,=1L0000

O0.000000000D00D00D §;# 10000000 00000000
00000000 SuperNodeMode O 000 NormalMode DO OO OOOOOO
000 S&,:=100000000000000 p; 0000 SuperRootMode 0 O O
goooOoOoOoOoOoOoOoooOoOO M()DDOUOCOOOOOOOOOODOOOO-
000000 p000 S,#1L0000

0000000000000 0000000O000000 p,000O00OD0ODO
0000 ¢0000000000000&8g:=(Detour,P,)0000000000
S,=100 8, = Detour,P,) 00000000000 OCOOOO0O

00000 170000000000000000000000 8Z; = (Decide, ;)
o0SsS=1000000

O00b0DbO0 7,00000D0000D000DOODODOODO 1I6e00000ODO
000000000DO0DO0DO0DO0DO0DO0DO0DO0oDO0DO0ODooooon
lroooobobobooboooboobooboobooo

000000000007, 000000000000 7,0000000007;
g0o0o000000bOO0bOobOOobO0bU0bDO0DbDObDODbDOobDOobDOobOUObDOO
0000000 7;00000000000000D00D00 16000 1700000
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